BIEODF—F L TBCREMAER H B TBG 2
[BEfE H] 202344 H20H (&%) R THZE)INZZ R (K] Wi KIE26EE 55/
w BHEDE (B EpEx)
JENE [ 4 ®i | @ JIOUT| IN [/ eA|RagHHCPINET |>ox#{ | IBAZ| 4 "I [ ArE [[OUT] IN |7 oA{fEEHHCP[ NET |70%%
s |2ein BAE | W || 37 | 40 | 77| 56 | 9.6 [67.4 61 [mrEs k| pEr || 52 | 50 | 102] 66 |21.6 | 80.4
ofi |BKi % | BE || 34 | 35 | 69 | 48 | 0.0 {69.0 62 |k GE AEr || 50 | 50 | 100 | 64 |19.2 | 80.8
SO |ABREEALAREY HEF || 36 | 38 | 74 | 52 | 4.8 [69.2 63 |z = | sz || 47 | 52 | 99 | 63 |18.0 | 81.0
A7 |BRE WERE [sterhinl[ 40 | 40 | 80 | 57 [10.869.2 64 |HE AEr || 55 | 55 | 110 | 70 |26.4 | 83.6
Shr [ ER) | BEE || 30 | 33 | 63 | 42 |-7.2 [70.2 65 |mE A | per || 57 | 63 | 120] 80 [36.0 | 84.0|
67 | f—ps | ) || 41 | 37 ] 78 | 54 | 7.2(70.8 BB |FES w | HE || 58 | 55 | 113 | 72 | 28.8] 84.2
AL 1Bt B | BBE || 38| 35 | 73 | 49 | 1.2|71.8 67 |F EE|] A% || 60 | 62 | 122 85 | 36 | 86
Sir | FIE | WE || 46 | 39 | 85 | 59 |13.2|71.8 K (g k| 2R —
ofr |AJ)Il &= |28 41 | 44 | 85 | 59 |13.2|71.8 RS /NE B | LR —
1067 |35 &= | A% | 46 | 43 | 89 | 62 [16.8]72.2
1167 |8 gt | A || 39 | 48 | 87 | 60 [14.4 |72.6
1207 | B e | 28 || 49 | 44 | 93 | 65 |20.4 |72.6
1307 [y e | NEF| 42 | 38 | 80 | 54 | 7.2|72.8 ¥ O
LAQT (e x A ] Hw || 40 | 40 | 80 | 54 | 7.2|72.8 Epr | 4w\ | @ [louTt] IN [7'ez|faiHCP] NET [5o+#
1507 d m3k | ner || 39 | 47 | 86 | 59 [13.2]72.8 s e | ner | 36| 42 ] 78| 53 [ 6.0] 72.0
16 |priE s | o)l || 54 | 43 | 97 | 68 [24.0 [73.0 ofir |rremFEr| AE || 41 | 45 | 86 | 58 [12.0| 74.0
17 | e | BEE || 43 | 40 | 83 | 56 | 9.6 [73.4 37 | EmE | NEF| 43 | 49 | 92 | 63 [18.0| 74.0
18 |&EH 54 %BE || 45 | 43 | 88 | 60 |14.4[73.6 AT [P BRER| NEF) 46 | 50 | 96 | 66 |21.6 | 74.4
19 |Bsss = NE || 45 | 42 | 87 | 59 [13.2[73.8 SO [FR MEF | A% || 39| 43| 82 | 54 | 7.2| 74.8
20 |Gt Bk | AW || 45 | 48 | 93 | 64 |19.2[73.8| 6 |FEEeT| ME || 38 ] 34| 72| 45 |-3.6] 75.6
21 |4 E_| 2B || 50 [ 49 | 99 | 69 |25.2[73.8 7 E HET ner || 55 | 45 | 100 | 68 [24.0| 76.0| *
22 |®pws sz | SE)I || 46 | 40 | 86 | 58 |12.0 [74.0 8 |8k 27| AEF || 57 | 55 | 112 | 78 [36.0] 76.0
23 |HAK #— | HE || 53 | 45 [ 98 | 68 |24.0 |74.0 9 |f mEv | pnep || 48 | 45 | 93 | 62 [16.8| 76.2
24 |&#E ke | SE) || 38 | 41 | 79 | 52 | 4.8 |74.2 10 |54 w7 | o)l || 50 | 43 | 93 | 62 |16.8] 76.2| ¥
25 | =5 | FE | 37| 45 | 82 | 54 | 7.2 [74.8] 11 |aFazEr| NEF| 46 | 43 | 89 [ 58 [12.0] 77.0
26 |PEEE jmE= | So)I || 45 | 43 | 88 | 59 |13.2|74.8 12 (W A /N | 44 | 44 | 88 | 57 [10.8| 77.2
27 |m4E O | 2B || 42 | 39 | 81 | 53 | 6.075.0 13 |[&m r=+| pep || 42 | 39 ] 81| 51 | 3.6| 77.4
28 /M= —#E| AW || 42 | 38 | 80 | 52 | 4.8 (75.2 14 |#EH w7 | AE || 49 | 50 | 99 | 66 |21.6 | 77.4
29 (M FREE| BE || 43 | 43 | 86 | 57 [10.8]75.2 15 |8 By | pwr || 55 | 47 | 102] 68 [24.0| 78.0|
30 |Hht E | BEF || 44 | 48 | 92 | 62 |16.8]75.2| 16 [ZE®y =+ | 2pE || 56 | 45 | 101 ]| 67 [22.8| 78.2
31 |#EE = | BE ([ 40 ]| 39| 79 | 51 | 3.6]75.4 17 |ZE =7 B || 48 | 46 | 94 | 61 |15.6| 78.4
32 |&n #wA| WE || 41 | 37| 78 | 50 | 2.4(75.6 18 |HtmEter| NETF| 50 | 44 | 94 | 61 |15.6 | 78.4
33 MR ez | NEF| 41 | 42 | 83 | 54 | 7.2|75.8 19 |&#M B+ | B || 57 | 55 | 112 76 |33.6 | 78.4
34 |[/NF EF | AFE || 42| 44| 86 | 56 | 9.6 |76.4 20 |md A&7 | A% || 51 | 54 | 105] 69 |25.2| 79.8] +
35 | sER | HE || 52 | 51 [ 103 ] 70 |26.4|76.6 | + 21 st A7 BEr || 53 | 56 | 109 72 |28.8| 80.2
36 |8 B | LB || 39| 45 | 84 | 54 | 7.2]76.8 22 |HBA Yk Aer |l 49 | 47 ] 96 | 59 [13.2| 82.8
37 |& BIE | HE || 47 | 49 | 96 | 64 |19.2|76.8 23 |k E ST A% || 63 | 51 | 114 | 74 [31.2] 82.8
38 [/ BB | R || 56 | 46 | 102 | 69 |25.2 |76.8 BB |#kil #F4 | AEF || 41 | 46 | 87 | 51 | 3.6 83.4
39 [HH sk | NEF| 41 | 34| 75 | 46 |[-2.4|77.4 25 |/RHE B | HE || 71| 69 | 140 | 93 |36.0 | 104.0 | ¥
40 |kHE RER | S || 44 | 37 | 81| 51 | 3.6 774 | || &xiE [miE aaT| AW —
41 | TH EX |25 46 | 41 | 87 | 56 | 9.6 |77.4
42 |BRE % |Hx2EF| 39 | 41 [ 80 | 50 | 2.4 |77.6
43 |ZeA& fpZE | NEF| 38 | 42 | 80 | 50 | 2.4 |77.6
44 |#Fo B | NEF| 35| 44 | 79 | 49 | 1.2]77.8
45 | = | NE7) 49 | 48 | 97 | 64 [19.2|77.8] * (EFRIE)
46 |7 = | AW || 45 | 45 [ 90 | 58 [12.0 [78.0 Yo _XRNTuRE
47 |&4E B | AEs || 51| 48 | 99 | 65 [20.4 |78.6 51 £ Hi gt E@ [TUNAv]| &
48 |EF Mewh | e || 39 | 41 | 80 | 49 | 1.2]78.8 Bk R EH] i3 30 [ 33 ] 63
49 R F | oI || 51 | 41 | 92 | 59 [13.2 [78.8 M | FEHE EAE | WHEE 38 [ 34 | 72
50 |BkA IEvE | HE || 53 | 51 | 104 | 69 |25.2|78.8|
51 [am —pe | mes [ 43 ] 48 | 91 [ 58 [12.0]79.0 Y BR—NALTE
52 |BEH fays | A% || 47 | 44 | 91 | 58 |12.079.0 4 Hil g ERR—Y
53 |k #E— | 2k || 55 | 41 | 96 | 62 |16.8 [79.2 B Wk s L 14
54 (@ [l per || 53 | 55 | 108 | 72 |28.8 [79.2
55 (M fdw] [smesti| 41 | 42 | 83 | 51 | 3.679.4|
56 |Es Ew | Awr |[ 52 | 49 | 101 | 66 [21.6 [79.4 Y BlA—n
57 (BB R | sz || 53 | 51 | 104 | 68 [24.0 |80.0 TUh > 1 26789
58 |t+5 b |bxnEF| 46 | 45 | 91 | 57 |10.8 180.2 A4 v = 11 12 13 16 17 18
59 | FJ5 & | HE || 52 | 45 | 97 | 62 |16.880.2
60 [kH FE | BE || 48 | 42 | 90 | 56 | 9.6 |80.4 | ¥




